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Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions. 
Question 1: He said “My wife bought a computer last year.” 
A. He said that his wife had bought a computer last year.  
B. He said that his wife had bought a computer the previous year.  
C. He said that my wife had bought a computer the previous year.  
D. He said that his wife has bought a computer last year.  
Question 2: The children last visited the zoo two years ago.  
A.	It’s since two years ago when the children visited the zoo.  
B.	The children haven’t visited the zoo for two years.  
C.	The children didn’t visit the zoo in two years.  
D.	The children haven’t visited the zoo two years earlier.  
Question 3: Perhaps, the next Sunday’s meeting will be cancelled.  
      A. The next Sunday’s meeting must be cancelled.  
B.	The next Sunday’s meeting needs to be cancelled.  
C.	The next Sunday’s meeting may be cancelled.  	
D. The next Sunday’s meeting should be cancelled.  
 
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of stress in each of the following questions. 
Question 4: A. kitchen 	B. lifestyle 	C. culture 	D. become  
Question 5: A. destruction  	B. chemical  	C. habitat  	D. wonderful 
 
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 
Question 6: He works on the night shift. He can’t go to my party. 
A.	If he didn’t work on the night shift, he could go to my party. 
B.	If he worked on the night shift, he could go to my party. 
C.	If he works on the night shift, he can go to my party. 
D.	As long as he hadn’t worked on the night shift, he could go to my party. 
Question 7: We didn’t realize that we had not set the burglar alarm in the office until we came back home. A. Having realized we had not set the burglar alarm in the office, we came back home.  
B.	Had we realized we had not set the burglar alarm in the office, we wouldn’t come back home.  
C.	Only after we realized that we had not set the burglar alarm in the office did we come back home. 
D.	Not until we had come back home did we realize we had not set the burglar alarm in the office.  
 
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.  
Question 8: Please give me some recommendation to buy suitable books for my ten-year-old girl.  
	A. defense 	B. advice 	C. interest 	D. question 
Question 9: It was really difficult to decide whether to take part in the race or not. 
 	A. believe 	B. think 	C. determine 	D. examine 
 
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 10 to 34.  
 A stinky gym bug in your kitchen? Who will be more upset by the smell - the men or the women in your family? (10) ______ scientists suggest that women not only smell, but feel, taste, and hear more accurately than men.  
 Take colors, for example. One study suggests that men are not as good as women at distinguishing between (11) ______ of color, although they focus well on rapidly changing images. As for touch, small fingers have a finer sense of touch, whether male or female.  
 Hearing is possibly one of the most debated areas, when talking about the senses. Evidence shows that boys hear as well as girls at birth, but with age, a man’s hearing may soon deteriorate. (12) ______, environmental factors could play a role in this. Women may also be better at identifying different flavors (13) ______ need both taste and smell to experience, as studies have shown that they have more taste buds on their tongue.  
 	Going back to the smelly gym bag - yes, it’s likely that Mom will be in deep (14) ______. But is that because women’s brains have more ‘smell cells’ or because you were too lazy to move it? 
	Question 10: A. Some  
	B. Each 
	C. Another 
	D. Every 

	Question 11: A. smells 
	B. shades 
	C. shadows 
	D. senses 

	Question 12: A. Moreover 
	B. Therefore 
	C. Due to 
	D. However  

	Question 13: A. which 
	B. who 
	C. where 
	D. whom 

	Question 14: A. surprise 
	B. interest 
	C. shock 
	D. awareness 


Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.  
Question 15: Though I persuaded my boss to solve a very serious problem in the new management system, he just made light of it. 
 	A. discovered by chance 	B. disagreed with 
 	C. completely ignored 	D. treated as important  
Question 16: He is writing a letter of acceptance to the employer with the hope to get his favorite position in the company.  
	A. confirmation 	B. agreement 	C. refusal 	D. admission 
 
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.  
 
Question 17: Hanh and David have just had a delicious meal in a restaurant.  
Hanh: “It’s very generous of you to offer to pay. Thank you so much!”  
David: “________________________” 
	A. I’m glad you like it.   	B. That was the least I could do.  
	C. Thanks a million. 	 	D. You can say that again. 
Question 18: David is talking to Helen about the dress she has just bought. 
David: “Your new dress is really nice!”.                
Helen: “________________________” 
 	A. You’re welcome. 	 	B. Don’t mention it.  	 	 
 	C. You, too. 	 	D. It’s nice of you to say so.  
 
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 19 to 23. 
Marriage is an ancient religious and legal practice celebrated around the world. However, wedding customs vary from country to country. 
The Wedding Rings: In most cultures, during the marriage ceremony, couples exchange their wedding rings with their life partner - usually made of gold or silver. The wedding rings are normally worn on the third finger of the left or right hand as a sign of being married. The circular shape of the ring is symbolic of the couple’s eternal relationship. In Brazil and some other communities, it is a tradition to have the rings engraved with the bride’s name on the groom’s ring, and vice versa.  
The Wedding Flowers: Obviously, flowers play an important role in most weddings. In many areas, roses, especially the red roses are said to be the flowers of love, and because they usually bloom in June, this has become the most popular month for weddings in many countries. After the wedding ceremony, in many countries the bride throws her bouquet into a crowd of well-wishers – usually her single female friends. The lucky person who catches this bouquet is expected to be the next one to get married.  
Question 19: Which of the following is the best title of the passage? 
	A. Wedding customs 	 	B. Wedding ceremonies  
	C. Wedding flowers 	 	D. Wedding history 
Question 20: The phrase “eternal” in the passage is closest in meaning to ______.  
	A. lovely 	B. temporary 	C. never-ending     	D. healthy 
Question 21: According to the passage, what is NOT mentioned about the wedding rings? 
	A. They are worn on the third finger.  	B. They are made in many shapes 
	C. They are made of gold  	D. They are made of silver.  
Question 22: The word “this” in the passage refers to which of the following? 
	A. rose 	B. June 	C. role 	D. love 
Question 23: The lucky person to catch the wedding bouquet from the bride is expected to ______.  
	A. grow flowers 	 	B. throw her bouquet 	 
	C. love flowers 	 	D. get married 
 
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 
	Question 24: A. expects 
	B. prepares 
	C. appears 
	D. informs 

	Question 25: A. whale 
	B. face 
	C. map 
	D. cake 


 
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 26 to 32. 
 Do you feel like your teenager is spending most of the day glued to a phone screen? You're not too far off. A new survey from the Pew Research Center reveals the surprising ways that technology intersects with teen friendships – and the results show that 57 percent of teens have made at least one new friend online. Even more surprisingly, only 20 percent of those digital friends ever meet in person. 
 While teens do connect with their friends face-to-face outside of school, they spend 55 percent of their day texting with friends, and only 25 percent of teens are spending actual time with their friends on a daily basis (outside of school hallways). These new forms of communication are key in maintaining friendships dayto-day – 27 percent of teens instant message their friends every day, 23 percent connect through social media every day, and 7 percent even video chat daily. Text messaging remains the main form of communication – almost half of survey respondents say it's their chosen method of communication with their closest friend. 
  While girls are more likely to text with their close friends, boys are meeting new friends (and maintaining friendships) in the gaming world – 89 percent play with friends they know, and 54 percent play with online-only friends. Whether they're close with their teammates or not, online gamers say that playing makes them feel "more connected" to friends they know, or garners they've never met. 
  When making new friends, social media has also become a major part of the teenage identity – 62 percent of teens are quick to share their social media usernames when connecting with a new friend (although 80 percent still consider their phone number the best method of contact). Despite the negative consequences - 21 percent of teenage users feel worse about their lives because of posts they see on social media – teens also have found support and connection through various platforms. In fact, 68 percent of teens received support during a challenging time in their lives via social media platforms. 
  Just as technology has become a gateway for new friendships, or a channel to stay connected with current friends, it can also make a friendship breakup more public. The study reveals that girls are more likely to block or unfriend former allies, and 68 percent of all teenage users report experiencing "drama among their friends on social media." 
Question 26: What is the main idea of the passage?  
A.	Teenagers are making and keeping friends in a surprising way.  
B.	The difference of making new friends between girls and boys.  
C.	Social media connects friendship.  
D.	Social media affects friendship too much.             
Question 27: According to the passage, what percentage of teens spend actual time with their friends?  
 	A. 23%  	B. 27% 	C. 25%   	D. 55%  
Question 28: The word " intersects " in the first paragraph is closest in meaning to _____.  
 	A. involve  	B. maintain 	C. generate  	D. interrupt  
Question 29: The word "they" in paragraph 3 refers to _____.  
 	A. friends  	B. online gamers 	C. online-only friends 	D. their teammates  
Question 30: The following sentences are true, EXCEPT _____.  
A.	New forms of communication play an important role in keeping friendships  
B.	According to the survey, more than half of teens have ever made new friends online  
C.	Most teenagers use video chat to maintain relationship with friends  	D. Teens only meet face-to-face one fifth of online friends they have made  Question 31: What can be inferred from the passage?  
A.	The majority of teenage users agree that social media has negative consequences in their lives.  	 
B.	Boys are more likely to meet new friends than girls.  	 
C.	Thanks to social media, more than two thirds of teens are supported when they face with challenges in their lives. 
D.	Most teens are not easy to give others their usernames when making new friends.  
Question 32: What is the synonym of the word "breakup” in the last paragraph?  
 	A. commencing  	B. popularity  	C. termination  	D. divorce  
 
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 33: In some European nations, kids need to study _______ foreign language in primary school. 
	A. an 	 	 	B. a 	 	 	     C. the 	 	 	D. X 
Question 34: Her father bought her a new bike ______ her birthday. 
	A. at  	B. in 	C. with 	D. on 
Question 35: John crashed his truck ______ he was driving too fast. 
	A. because 	B. although 	C. despite 	D. because of 
Question 36: These tasks are very ______ from those ones.  
	A. differ 	B. differently 	C. different   	D. difference 
Question 37: Students can borrow $9,000 from government a year to pay their tuition ______.  
 	A. fee 	B. fare 	C. wage 	D. fine 
Question 38: Paul noticed a job advertisement while he ______ along the street. 
	A. would walk 	B. was walking 	C. walked 	D. had walked 
Question 39: Peter is an ambitious man who will never ______ till he gets what he wants.  
	A. put on 	B. take off 	C. turn down 	D. give up 
Question 40: I will give her your note ______.  
	A. when I had seen her 	 	B. when I saw her 	 
	C. when I see her 	 	D. when I was seeing her 
Question 41: This bridge ______ many years ago. 
	A. builds  	B. was built 	C. was building 	D. has built 
Question 42: Terry managed ________ his science exam after studying really hard. 
	A. passing 	B. pass 	C. passes 	D. to pass 
Question 43: ______ together on the project for years, the team members become close with each other. 
	A. Being worked 	B. To work 	C. Having worked 	D. Worked 
Question 44: Students should ______ advantage of available materials in learning. 
	A. have 	B. take 	C. make 	D. do 
Question 45: Peter is very talented, ______? 
	A. isn’t he 	B. was it 	C. does it 	D. wasn’t it 
Question 46: It was noticeable how a few people managed to ________ their will on the others. 
	A. focus 	 	 	B. break 	 	 	C. judge 	 	D. impose  
Question 47: He tries his best to bring ______ the bacon for his all five children.  
	A. house 	B. home 	C. room 	D. department 
 
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 
Question 48: My students are very hard-working and they always finish her homework before going to school. 
	A. My  	B. hard-working  	C. before 	D. her  
Question 49: There were inconsiderate amounts of money wasted on large building projects. 
    A. amounts  	B. inconsiderate 	C. wasted  	D. building 
Question 50:  Last year, Tim works as a shipper and he earned twice as much as his brother. 
	A. twice 	B. a shipper  	C. works  	D. as 
 
_______ Hết _______
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Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following 


questions. 


 


Question 1:


 


He said “My wife bought a computer last year.”


 


 


A.


 


He said that his wife had bought a computer last year. 


 


 


B.


 


He said that his wife had bought a computer the previous year.  


 


C.


 


He said that my wife had bought a computer the previous year. 


 


 


D.


 


He said that his wife has bought a computer last year. 


 


 


Question 2:


 


The children last visited the zoo two years ago. 


 


 


A.


 


It’s since two years ago when the children visited the zoo. 


 


 


B.


 


The children haven’t visited the zoo for two years. 


 


 


C.


 


The children didn’t visit the zoo in two years. 


 


 


D.


 


The children haven’t visited the zoo two years earlier.  


 


Question 3:


 


Perhaps,


 


the next Sunday’s meeting will be cancelled. 


 


 


      


A.


 


The next Sunday’s meeting must be cancelled. 


 


 


B.


 


The next Sunday’s meeting needs to be cancelled. 


 


 


C.


 


The next Sunday’s meeting may be cancelled. 


 


 


 


D.


 


The next Sunday’s meeting should be cancelled.  


 


 


 


Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three 


in the position of stress in each of the following questions
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Question 4:


 


A.


 


kitchen


 


 


B.


 


lifestyle


 


 


C.


 


culture


 


 


D.


 


become  


 


Question 5:


 


A.


 


destruction 


 


 


B.


 


chemical 
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habitat 


 


 


D.


 


wonderful 


 


 


 


Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each 


pair of sentences in the following questions
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Question 6:


 


He works on the night shift. He can’t go to my party.


 


 


A.


 


If he didn’t work on the night shift, he could go to my party.


 


 


B.


 


If he worked on the night shift, he could go to my party.


 


 


C.


 


If he works on the night shift, he can go to my party. 


 


D.


 


As long 


as he hadn’t worked on the night shift, he could go to my party.


 


 


Question 7:


 


We didn’t realize that we had not set the burglar alarm in the office


 


until we came back 


home.


 


A.


 


Having realized we had not set the burglar alarm in the office, we came back 


home


.  


 


B.


 


Had we realized we had not set the burglar alarm in the office, we wouldn’t come back home.


  


 


C.


 


Only after we realized that we had not set the burglar alarm in the office did we come back home. 


 


D.


 


Not until we had come back home did we realize


 


we had not set the burglar alarm in the office.  
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